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, 100kN/M%Zi#BZ2 5| 100| o000~ 315 150.27| 3mZEHBZB| 000~ 005 303 15.30|100kN/mM#E#BZ 5| 100| 1053 ~ 2921 150.27| 3mEHBZB| 2500 ~ 2921 303 15.30
Znusn 1.00| 315~ 1093 100.00| FHLLo}+ 005~ 1093 300 15.16 ZFns 00| 500~ 1053 100,00 FNLLAY | 500~ 2500 3.00 15.16
p 100kN/m%i#8z 5% 1.00| 000~ 124 11873 3m&E#BZB - ~ - — - 100kN/ Mm%z 5| 100| 1098 ~ 1568 11873| 3m&EHBAB - ~ -— — —
ZFhn Ll 100| 124~ 902 100.00\ FH LIy} 0.00 ~ 9.02 205 10.37 ZFhlls 100\ 500~ 1098 100.00) Fh Lo 500 ~ 1568 205 10.37
, 100kN/m%i#8z 5% 1.00| 000~ 124 11873 3mZE#BZB - ~ -— — - 100kN/mZz#8z 5| 100| 1098 ~ 1568 11873| 3m&EHBAB — ~ -— — —
ZFhn Ll 100| 124~ 902 100.00\ FH LIy} 0.00 ~ 9.02 223 11.27 ZFhlls 100\ 500~ 1098 100.00) Fh Lot 500 ~ 1568 223 11.27
p 100kN/mM#& 82 5| — -~ = - 3mEBRH - ~ - - - 100kN/mM#zEBZ 5| — -~ - - 3mEHEREH — ~ — - -
ZFnLs 100 000~ 607 7613 TN | 000~ 607 187 9.46 ZFnLst 100 500~ 721 7613 TN | 500~ 721 1.87 9.46
5 100kN/m%#82 5| 100 000~ 083 11234|3mEBZD - ~ -— - - 100kN/M%E#BZ 5| 100| 1061 ~ 1299 11234|3mERBRB — ~ -— - -
ZFnLs 1.00| 083~ 861 100.00] FNLSL | 000~ 861 1.82 9.22 ZFnLst 1.00| 500~ 1061 100.00] TN | 500~ 1299 182 9.22
; 100kN/m#%#82 5| 100 0oo~ 008 101.13|3mZEBZE - ~ - - - 100kN/M%E#BZ 3| 100| 1412 ~ 1440 101.13|3mERBRB — ~ -— - -
Znusn 100 008~ 786 100.00 Fih Lo 000~ 786 214 10.80 Zns 100 500~ 1412 100.00 FNLISY | 500~ 1440 214 10.80
, 100kN/mM#zB2 5| — -~ - - ImEERE - ~ - - - 100kN/mM#Z#EZ 5| — -~ - - 3ImEHEREH — ~ - - -
ThnList - -~ - - Thes | - ~ - - - ThnLs - -~ - - TS| - ~ - - -
P 100kN/ Mm%z 25 — -~ = - 3ImEERE - ~ - - - [100kN/miEBZB| — -~ = - 3ImEHALH - ~ -— - -
ThnList - -~ - - Thes | - ~ - - - ThLs - -~ - - TS| - ~ - - -
) 100kN/mM#zB2 5 — -~ = - ImEERE - ~ - - - [100kN/mERZB| — -~ = - 3ImEHALH - ~ -— - -
ThnList - -~ - - Thes | - ~ - - - ThnLs - -~ - - Thes | - ~ - - -
p 100kN/mM#zB2 5 - -~ = - ImEERE - ~ - - - [100kN/m#ERZB| — - ~ = - 3mEHEALH - ~ - - -
ThnList - -~ - - Thes | - ~ - - - T - - ~ - - Thes | - ~ - - -
» 100kN/mM%# 25| — - ~ - - ImEEBALH - ~ - - - 100kN/mM#zE# 25| - - ~ - - 3mEHEAEH - ~ - - -
ThLs - - ~ - - ThLs | - ~ - - - ZhnLst - -~ - - Thes | - ~ - - -
P 100kN/m%ZBz2 5| 100 000~ 111 11673\ 3mEHBZA B — ~ -— - - 100kN/M%Z#BZ2 5| 1.00| 1061 ~ 1398 116.73| 3mE Bz P — ~ -— - -
Fhn Lot 100l 111~ 890 100.00| Fh Lo+ 000~ 890 1.83 9.23 FhnLlst 1.00| 500~ 1061 100.00] FhLLsh 500 ~ 1398 1.83 9.23
P 100kN/m%Z#Bz2 5| 100| 000~ 111 11673\ 3mEHBZA B — ~ -— - - 100kN/M%#Bz2 5| 100| 1061 ~ 1398 116.73| 3mE Bz P — ~ -— - -
Fhnus 100\ 111~ 890 100.00| FNLUS | 000~ 890 183 9.23 FhnLst 100\ 500~ 1061 100.00] TS | 500~ 1398 183 9.23
p 100kN/m%#B % 5| 100 000~ 130 119.73| 3mEHBZDB — ~ — - - 100kN/M%E#BZ 3| 100| 11.56 ~ 1597 119.73| 3mERBZB — ~ -— - -
Fhnus 100\ 130~ 909 100.00| FNLUS | 000~ 909 197 9.94 FhnLst 100\ 500~ 1156 100.00] TS | 500~ 1597 197 9.94
15 100kN/m%HB % 5| 100 000~ 098 11470| 3mEHBZDB — ~ — - - 100kN/M%E#BZ 3| 100| 1250 ~ 1597 114.70|3mEBRE — ~ -— - -
ZFnLst 100 098~ 876 100.00] FNLLSL | 000~ 876 252 1275 ZFhnLst 00| 500~ 1250 100.00] TN | 500~ 1597 252 12
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B 100kN/ Mm% 25| 100 000~ 111 11679 3mEBZBE — ~ — - - 100kN/m%Z#Bz2 5| 00| 1270 ~ 1684 11679| 3mEBZ B — ~ - - -
Znusn 00| 111~ 890 100.00| FHLLo}+ 000~ 890 254 12.83 ZFns 100l 500~ 1270 100,00 FNLLAY | 500~ 1684 251 12.83
. 100kN/mM%# 25| — - ~ - - 3mEBREH - ~ - - - 100kN/mM#E#BZ 5| — -~ - - 3mEHEAEH - ~ -— - -
ZFhn Ll 100 000~ 775 99.47 Fhn Lo 000~ 775 279 14.11 ZFhlls 100\ 500~ 1730 99.471 Fh Lot 500 ~ 17.30 279 14.11
1 100kN/m%i#8z 5% 1.00] 000~ 092 11377| 3mZEHBAB — ~ — — - 100kN/mZz#8z 5| 100| 1502 ~ 1930 11377\ 3mZEHBAE — ~ -— — —
ZFhn Ll 100 092~ 870 100.00\ FH LIy} 0.00 ~ 870 269 13.58 ZFhlls 100\ 500~ 1502 100.00) Fh Lot 500 ~ 19.30 269 13.58
10 100kN/m%i#8z 5% 1.00| 000~ 135 12050\ 3mEBZB - ~ -— — - 100kN/mZ#BZ B3| 100| 1306 ~ 1856 12050\ 3mEHBAB — ~ — — —
ZFnLs 1.00| 1.35~ 350 100.00] FNLSL | 000~ 350 257 12.97 ZFnLst 1.00| 500~ 13.06 100.00] TN | 500~ 1856 257 12.97
0 100kN/mM%& 825 — - ~ - - 3mEBRE - ~ - - - 100kN/mM##BZ 5| — -~ - - 3mEEREH - ~ - - -
ZFnLs .00 000~ 350 89.08| ENLL | 000~ 350 292 14.76 ZFnLst 1.00| 500~ 1729 89.08] TN | 500~ 1729 292 14.76
o 100kN/m%# % 5| 100 000~ 063 109.33| 3mEBZD — ~ — - - 100kN/M%E#BZ 3| 100| 1520 ~ 1800 109.33|3mERBRB — ~ -— - -
Znusn 100l 063~ 410 100.00 Fih Lo 000~ 410 269 15.62 Zns 100 500~ 1520 100.000 FNLLSY | 500~ 18001 269 13.62
Y 100kN/m%#82x2%| 100l 000~ 127 119.15|3mEHBZE - ~ -— - - 100kN/m%Z#BZ2 5| 100 1369 ~ 1913 119.15|3mEBZ B - ~ - - -
Znsn 100l 127~ 330 100.00 Fih Lo 000~ 330 261 13.19 Zns 100 500~ 1369 100.00 FNLISY | 500~ 1913 261 1319
s 100kN/m%#8x2%| 100| 000~ 0092 11383|3mEHEAH — ~ — - - 100kN/mM%Z#BZ 5| 100| 1489 ~ 1913 11383|3mEBER B — ~ — - -
Znsn 100l 092~ 230 100.00 Fih Lo 000~ 230 291 14.71 ZFns 100 500~ 1489 100.00 FNLISY | 500~ 1913 291 14.71
o 100kN/mM%H8Bz 5| - - ~ - - 3mZEHBZB| 000~ o018 317 16.03|100kN/mM##BZ 5| — -~ - - 3mEHBZB| 1500 ~ 1909 317 16.03
Znsn 1.00| 000~ 230 93721 FNLS | 018~ 230 300 1516 st 100l 500~ 19.09 93721 TS, | 500~ 15000 300 15.16
s 100kN/m%H8Bz 5| - -~ - - 3mEHBZB| 000~ o015 317 16.05|100kN/mM##BZ 5| — -~ - - 3mEHBZ B 1000~ 1909 317 16.05
ZhLlst .00l 000~ 360 73.23| FH LA 015~ 360 300 15.16 ZFns 00| 500~ 19.09 7323 FNLLSY | 500~ 1000 3.00 15.16
2 100kN/ Mm%z 5| 100 000~ 110 11658\ 3mEHBZA B — ~ -— - - 100kN/M%ZEBZ 5| 100| 11.55 ~ 1514 11658|3mEHBZ B — ~ -— - -
Fhn Lot 100 110~ 460 100.00| Fh Lo+ 000 ~ 460 197 9.94 FhnLlst 1.00| 500~ 11.55 100.00] FhListh 500 ~ 1514 1.97 9.94
pu 100kN/ Mm%z 5| 100 000~ o068 110.07| 3mZEBRB - ~ - - - 100kN/M%#BZ2 5| 100| 1633~ 1977 110.07|3mEBZE — ~ -— - -
FhnLst 100 068~ 680 100.00| FHRLA | 000~ 680 223 11.25 FhnLst 100 500~ 1633 100.00 FNLISY | 500~ 1977 223 11.25
s 100kN/mM% 82 5| — - ~ - - 3mEBERE - ~ - - - 100kN/m#zE# 25| — - ~ - - 3ImEHEAEH - ~ -— - -
Fhnus 100\ 000~ 350 9573 TS | 000~ 350 292 14.74 FhnLst 100\ 500~ 1977 9573 TS | 500~ 1977 292 14.74
P 100kN/ Mm% % 5| 100 000~ 016 10229|3mEHBZD - ~ — - - 100kN/M%E#BZ 3| 100| 1827 ~ 1912 10229| 3mERBZB — ~ -— - -
Fhnus 100\ 016~ 350 100.00 FNLUSL | 000~ 350 282 14.25 FhnLst 100\ 500~ 1827 100.00] TS | 500~ 1912 282 14.25
20 100kN/mM%&#2 5| — - ~ - - 3mEBERH - ~ - - - 100kN/mM#zE#Z 5| - - ~ - - 3mEEREH — ~ - - -
ZFnLst 1.00| 000~ 190 8285 FNLS | 000~ 190 191 9.65 ZFhnLst 100 500~ 830 8285 FNLSY | 500~ 830 191 9.65
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o 100kN/m%z#8z 5| - - ~ - - 3mEBZD - ~ - - - 100kN/m%Z#8z 5| - - ~ = - ImEHEZE - ~ -— - -
Znusn .00l 000~ 190 74.89] FiHLLsh 000~ 190 221 11.18 ZFns 00| 500~ 10.00 7489 FNLLAY | 500~ 1000 221 11.18
2 100kN/M%&#BZ 5| - -~ - - IMEBAL - ~ - - - 100kN/mMZEBZ 5| - -~ - - ImEBREH — ~ - - -
Fh s 1.00| 000~ 190 67.73] FHLLHE 0.00 ~ 1.90 221 11.19 ZFhlls 100\ 500~ 870 67.73| FHLLA}T 500~ 870 221 11.19
49 100kN/m#%#B25| - -~ - - SmEBRLH - ~ - | - - |100kN/MZEEBZ B - -~ - - 3mEHBAY - ~ - | - -
ZhList - - ~ - - Thes | - ~ - - - ZThnLst - - ~ - - Thess | - ~ - - -
w 100kN/m#%E#B2 5| - -~ - - 3mEBRLH - ~ - | - —  |100kN/MZEEBZ B - -~ - - 3mEHBAY - ~ - | - -
ZThList - - ~ - - Thes | - ~ - - - ZhnLst - - ~ - - Thess | - ~ - - -
s 100kN/m%#B25| - -~ - - ImEBRLH - ~ - | - - |100kN/MZEEBZ B - -~ - - 3mEHBAY - ~ - | - -
ZThList - - ~ - - Thes | - ~ - - - ZhnLst - - ~ - - Thess | - ~ - - -
w 100kN/mM#z#B2 5 - -~ = - SmEHEAS - ~ - - - |10OkN/mM##Z 5| — -~ = - 3SmEHBAHY — ~ - - -
ZThLs - -~ = - Thes | - ~ - - - ZThLs - I - TS| - ~ - - -
100kN/ Mm% Z % ~ 3mEBZ D) ~ 100kN/ Mm% # % % ~ 3mEHEZ B ~
ZThLst ~ TR ~ ZhLs ~ ThnLst ~
100kN/ Mm% Z % ~ 3mE R D) ~ 100kN/mi%E# % % ~ ImERBZ B ~
ZThLst ~ TR ~ ZThLs ~ T ~
100kN/ Mm% Z % ~ 3mEBR D) ~ 100kN/m%E# % % ~ ImERBZ B ~
ZThLst ~ TR ~ ZhnLs ~ T ~
100kN/ Mm% Z % ~ 3mEER D) ~ 100kN/mi%E# % % ~ ImERBZ B ~
ZThLst ~ T ~ T ~ T ~
100kN/ Mm% % % ~ IMEHBA D ~ 100kN/m%#8 2% ~ 3mE R B ~
ZhList ~ ZnLst ~ ZhnLst ~ Zh Lt ~
100kN/ Mm% % % ~ IMEHBA D ~ 100kN/m%#8 2% ~ 3mE R B ~
ZhList ~ ZnLst ~ ZhnLst ~ ZhLst ~
100kN/ Mm% % % ~ IMEHBA D ~ 100kN/m%#8 2% ~ 3ImE R B ~
ZhList ~ ZnLst ~ ZnLst ~ ZhLst ~
100kN/ Mm% % % ~ IMEHBA D ~ 100kN/m%#8 2% ~ 3ImE R B ~
ZhList ~ ZnLst ~ ZnLst ~ ZhLst ~
100kN/ Mm% % % ~ IMEHBA D ~ 100kN/m%#8 2% ~ 3mEHER B ~
Zh st ~ ZhnLst ~ ZhnLst ~ ZhList ~
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